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Division by grouping using arrays
Present pupils with a problem. For example: ‘ ‘ ‘ n ‘

Ten eggs fitinto each egg box. The hens have laid 30 eggs. Y Y YY"
How many boxes will be needed to store the 30 eggs?

Return to the array structure explored in 21523 and 2LS24 to model how to solve the problem. Link this
to the beadstring model from Step 2 and talk through each step of building the array. Build each line of

Box 1
Box2

Box3

Model how to represent this pictorially and as an
abstract calculation alongside the concrete:
representation.

30+ 10= 350 3 egg boxes are needed

Model this strategy with a second problem
For example:

Glass 2is in their PE lesson. The teacher would lie the chidren to get into teams of 2. {
There are 18 children altogether. How many teams can they make? n

Pupils use handout_21S26_step3_division_using_arrays to develop their understanding of how arrays
can represent divisions and how they can be used to solve problems.
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Draw lines to link each problem to the matching array and calculation. x x
Solve each calculation. x x
x x
x x
Class 2 has 50 colouring pencils. They come in packs of 10. 50:10=
How many packs are there? X x x x x
X x x x x
X x x x x
Laura could see 8 motorbike wheels under the fence. X x x x x 25:5=
How many motorbikes must be behind the fence? X x x x x

How many lengths of Scm can you cut
from a 25cm piece of string? s

Complete the missing sections:

‘Problem: ‘Calculation and solution:
Daniel s timing half an hour. Every 10 minutes,

he puts one marble in a jar. How many marbles

will he have in his jar at the end of the time?

Calculation and solution:
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Crayons come in packets of 5.
Mrs Plant needs 30 crayons.
How many packets should she
buy?

Draw an array to prove it




image4.png
Which array matches the
calculation?

Explain how you know.

12+-6=2





image5.png
Pupils solve problems in which another calculation is needed before the division.
For example:

« There were 64 children on the playground. 14 of them went inside for lunch. The rest of the
children were asked to get into teams of 5 to play a game. How many teams could they make?

« Mr Oak had some beans to plant with his science club. He brought 16 beans from home and
found another 4 in the science cupboard. When every child in the club had been given 2 beans
each, there were no beans left. How many children were in the club?




